if vt < zor x > wthen z:= y

/0N /\

relop relop id




if r < zor x > wthen z:= y

.next =

/ \
/N / N\

relop id

id = E




if r < zor x > wthen z:=y

S — if £ then S

id

E.true := newlabel; E.false:= S.next;

Si.next := S.next;

S.code := E.code |

gen(E . true’ ") | Si.code

s

id



if rt<zorz> wthen z:= 1y

. true = Lo
‘true = Lo true = Loy

Jfalse

S

relop relop

E — Ejor Es Ei.true .= E.true; FEi.false := newlabel;

Es.true .= E.true; Es.false := E.false;

E.code := FE.codel||gen( E;.false’ || E;.code;

id




if r < zor z > wthen z:=y

. K ‘ next = Iy
if / L w then / S \
true = Lo true = Ly
/ \% L3 or / % Ll id = E
relop relop id
id id id id

.place = x



if t < zor x > wthen z :=

if /Ew then
true = Lo drue = Lo

Jfalse

S

relop relop

place =z

id id id

.place = x

E

Jalse = Iy

id



if rt < zorz> wthen z:= 1y

true = Loy

if / L w then
true = Lo drue = Lo
E Jalse = Ls or Jalse = Iy
E relop relop
place = x
id id id id

id



if r < zor z > wthen z:=y

true = Ly

if /Ew then
true = Lo drue = Lo

E Jalse = L3 or E_  .false = Iy
/ \ y
E relop E E relop E

place = x

id id id id
.place =z .place = z

id



if r < zor x > wthen z:= y

. K ‘ next = Iy
if Ew then S
true = Lo true = Lo
E false = Ls or E Jalse = Iy id = E

/ \ p .
E relop E place = 2 E relop E id

place = x

1f x < z then goto L2

.place =z .place = z

E — Fj relop Es | E.code ;= Ej.codel|| Es.code

\|lgen("if" Ey.place relop.op Es.place ‘goto’ E.true)||gen('goto’ E. false)




if rt << zor x> wthen z:=y

. K ‘ next = Iy
lf /Ew - |
‘true = Lo true = Lo
E Jalse = L3 or E . false = Iy id = E

/ \ p .
E relop E place = 2 E relop E id

place = x

1f x < z then goto L2

.place =z .place = z



if rt << zor x> wthen z:=y

// | K
if /EM?\& - S N Ll
true = Lo true = Lo

E Jalse = Lz or E_ .false = Iy id = E
/ \-0]7 —
E relop E place = 2 E relop E id
.place = '

1f x < z then goto L2

.place = x .place = z  .place = x



if rt << zor x> wthen z:=y

. K ‘ next = Iy
lf /Ew - |
true = Lo true = Lo
E Jalse = Lz or E_ .false = Iy id = E

/ \-0]? =
E relop E place = 2 E relop E id

.place = x ' .place = x

1f x < z then goto L2

.place = x .place = z  .place = x



if rt << zor x> wthen z:=y

. K ‘ next = Iy
if /Ew then S
‘true = Lo .
E Jalse = L3 or E . .false id = E

/ \.op = :
E relop E place = 2 E relop E id

.place = x ' .place = x

1f x < z then goto L2

. to L3
id id id id R

.place = x .place = z  .place = x



if rt < zorz> wthen z:= 1y

. K ‘ next = Iy
if /Ew then S
‘true = Lo .
E Jalse = L3 or E . .false id = E

/ \.op = :
E relop Eplace =z E relop E id

.place = x .place = x

1f x < z then goto L2

. to L3
id id id id R

place =z place = z  “.place = place = w



if r < zor z > wthen z:= y

. K ‘ next = I
if Ew then S
‘true = Lo .
Jalse = L3 or E . .false id = E

/\

op = ,
relo E place =z E relop B id
.place = xp b .place = x .place = w
id id id id -
.place =z l.place =2z .place=x .place = w 1f x < z then goto LZ
goto L3
L3:

F — Ej or Es FEy.true := E.true; FEi.false := newlabel;
Es.true := E.true; Es. false := E. false;
E.code := F.code||gen( Ey.false’ || Ey.code;




if vt < zor x > wthen z:= y

. K ‘ next = Iy
if Ew then S
true = Lo .
E Jalse = L3 or E . false id = E

E relo E .place = 2z E relop _ i

.place = xp P .place = x -place = w
id id id id if x < z then goto L2
.place = x place = z  .place =z place = w  goto L3

L3: if x > w goto L2
goto L1

E — Fj relop Es | E.code ;= Ej.codel|| Es.code

\|lgen("if" Ey.place relop.op Es.place ‘goto’ E.true)||gen('goto’ E. false)




if rt << zor x> wthen z:=y

. ’TZFZZ///E;////////////’ ‘ next = Iy
if Z?\\\Qﬁgii:;jj. then S
true = Lo .
E Jalse = L3 or E false id = E
/ \ place = x
0p = :
E relop E place = z E relop E id
.place = x ’ .place = x
id id id
.place =z .place = z  .place = x .place = w

1f x < z then goto L2
goto L3

L3: if x > w goto L2
goto L1



if rt < zor z > wthen z := y

. 'Tf;;;i:fz;///////////// ‘ next = Iy
if E\\\Qﬁﬁii\\fi then S
true = Lo . =
E Jalse = L3 or E . .false id = E
/ \ place = x
E refop E place = 2 E reldp id
place = z ' place = x .place =y
id id id
.place = x .place = z  .place = x .place = w
1f x < z then goto L2
goto L3
L3: if x > w goto L2

goto L1



if r < zor x > wthen z:= y

s .next = L
. // ‘ \ et — Ll
if Ew then S
P true = Lo .
false = Ls or .false id — E o
-0Op
E relop E place = 2 E relop id
place = x place = x place = y
id d id id 1f x < z then goto L2
.place =z .place = z  .place = x .place = w goto L3
L3: if x > w goto L2
goto L1
S — if E then Sy E.true := newlabel; FE.false := S.next;

S1.next := S.next;
S.code := E.code |

gen(E.true’ ") | Si.code




if rt < zorz> wthen z:= 1y

next = L
. K ‘ next = Ly
if Ew then S
P true = Lo = —
false = L3 or false id = _
/ \ J ; d place = x place =y
E refop E place = 2 E reldp id
place = x ' place = x place = y
id id id
.place = x .place = z  .place = x .place = w
1f x < z then goto L2
goto L3
_ | L3: 1if x > w goto L2
S—id:=F | p:=lookup(id.name); goto L1
if p £ nil then emit(p’ =" E.place) L2: x =y
else error bl




